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1. According to the local union president, the mean gross income of plumbers in the Salt Lake
City area is normally distributed, with a mean of $45,000 and a standard deviation of $3,000.
A recent investigative report for KYAK TV found, for a sample of 36 plumbers, the mean
gross income was $44,000. At the 0.05 significant level, is it reasonable to conclude that
that the mean income is not equal to $45,000? (%[ p i (B 20T RS VF’[E@E'
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2. Tina Dennis is the comptroller for Meek Industries. She believes that the current cash-flow
problem at Meek is due to the slow collection of accounts receivable. She believes that
more than 60 percent of the accounts are in arrears more than three months. A random
sample of 200 accounts showed that 140 were more than three months old. At the 0.05
significance level, can she conclude that more than 60 percent of the accounts are in arrears
for more than three months? (ﬁ%l IE-ES ;’TVF’[FIJ" [ﬁﬂ‘ﬁz“ Fﬁ, RE )
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